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HAEE G ()

Sr.  Client Question
No. ID

Objective Question
o

Objective Question
2 2

Objective Question
N

Objective Question
4 4

Question Body and Alternatives

The property of a fluid which determines its resistance to shearing stresses, is called

U e T 1 7701 Sit et vl 3 R 5w wide @) Ruffa seard, '

A

I permeability
IR
.:-\2 Viscosity — (Correct Alternative)
T
A3 Capillarity
Higanfe

o Density

LEC

 Orifices as well as mouthpieces are used to measure the

TR e T p—— 1 H1 3 R R T 21

f\ ' Discharge — (Correct Alternative)
IEGELS
fu Velocity

an

:'\3 Speed

i

Area

m

A4

The erllergy. Ioss in a pipeline is due to:

fareft urgy g A el Bt aifY & FRUE &1

| ‘,M Surface roughness only

Fael Iag b GIaTg

AZ Viscous action only

Faa g farierar

‘:\3 Friction offered by pipe wall as well as by viscous function — (Correct Alternative)

gy $t AR 3R warTar gry vae e e wdo
A

A Velocity of flow

arg & an

The maximum velocity in open channels occur:

QA el o siftreem an gl

Al Near the channel bottom
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Objective Question

Objective Question

Objective Question

Objective Question

5 5
6 6
7 7
8 8

T o & U

fqz At the centre

Lot

an At the free surface

T HE W

‘:“ A little below the free surface - (Correct Alternative)

Yo waE & ureT R

A centrifugal pump impeller having 600 mm diameter runs at 1000 r.p.m. The tangential velocity of the impeller is 1.0 0.25

wmmsﬁmmmﬁoo mm 8, 1000 rp.m. TR T & | SHIER 1 WLy 31

Al 3 14 mvsec
3.14 m/sec

A2 . . 4

. 3Ld misec - (Correct Alternative)
3.4 misec

A3 62.8 misec
62.8 m/sec

A% 314 misec

314 m/sec

The pressure of a liquid on a surface will always act

U elg R US @ &1 a9 gA 6ag &

:\ . Normal - (Correct Alternative)
yfirera

A2 parallel

HAFARR
A

3 45 degree

4sfEiim

A% 0 degree

60 3l

A bourdon tube pressure gauge is used for measuring

to the surface.

vzl

I A9 & g us g Al g wardt &1 sudm fsm s 2

‘.M Low pressure
HHQEE
A2 High pressure

I gE|

f\" High as well as low pressure - (Correct Alternative)

I 3R ¥ ga

f“ Abnormal pressure

A g€ d

The number of equations to be used for finding the resultant of general force system, is

TR T e 3 RO @ 1 3 3 R I R o A il e

s
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.‘-\2 3 — (Correct Alternative)

3

0y

4
i
6
Objective Question
9 9 In free body diagram, a cable is always represented by 1.0 025

1 s o A, U@ et ) ghan TR axta AT R

fM Shear force
HAEYU Fd
AZ Compressive force
Ydts® qa
. % TN )
. Tensile force — {Correct Alternative)

LEEE

:M Normal force

AT &
Objective Question
1010 The distance of the centroid of a solid triangle of height 'h' from the base, is . Lo 0.25

FE ' F U 3 Bye & R A Fsw It gl grfh

f“ h/3 — (Correct Alternative)

h/3

”
A2 1o
h/2

A3 g

h/4

Ao

2h/3
Objective Question S
oon The moment of inertia of a rectangle about the centroidal axis about XX having breadth 0.4 m and depth 0.6 m is o ozs

o.maﬁgﬁamo.emmﬁa]ﬁwarmaaﬁmﬁumxxwmaﬂw gl

Al

36x 104 m*
36x 104 m?
A2 4 4
F 72 x 107* m” = (Correct Alternative)
72x 1004 m?
A3
o 32x10*m

32x10%m*
Ad

o 64x 104 m?

64 x 10% m*
Objective Question 7
12 n are used for counting the number of chains while measuring a chain line. Lo 025

&1 I9UI U 4l €1 B H F IR Yaa ) den i ¥ R e g

fM Ranging rod
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TR 9% £

A2 ’ :
. Arrows — (Correct Alternative)

R
fﬁ Tapes
2y

ad Cross staff

fodes w©re

Objective Question . -
13 13 In chain survey, the area is divided into 1.0 025

s e 3, A B 3 s R s 31

fM Rectangles

3t
Squares
i

':U Hexagons

§CHIT

<

A2

:‘4 Trinngles — (Correct Alternative)

Objective Question

A The fore bearing of  line is 260°. The back bearing of this line is

U 31 T HATGEAM 260° T | 59 3@ &1 9y Raam Gl

‘.M 10°
10°
.52 120°

120°
A3

80Y — (Correct Alternative)

80°

| A4
1000

100°
Objective Question

15 15 In plane table surveying, the inaccessible points are located by 4 10 0.25
Ao e Hdal #, spr fag ERIRIMAd g &1

A1 Intersection method - (Correet Alternative)

ufesde fafy

62 Resection method

e fafy
A3 padintion method

fafeor fafy

" Reiteration method

i fafd

A

Objective Question }
16 |16 /In leveling, the height of instrument is . 10 0.25

HaeH #, Juen # Ha k]

fn‘l Reduced level of bench mark + intermediate sight
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| HIES $1 e R + Toadi e ]
A2

. Reduced level of bench mark + fore sight
ArEs &1 e e « g el
Reduced level of bench mark - back sight

S &1 Fram wr - uig efp
A4

A3

Reduced level of bench mark + back sight — (Correct Alternative)

rEE &1 e ww - wf ey
Objective Question

77 In a direct method of contouring, the process of locating points lying on a contour is called 10 025

i v ) g e R, e v o Rl 35 T 2 SR T T {

f“ Ranging

62 Centering
Fg0l

A¥ . 3 .

. Vertical control — (Correct Alternative)
Feafur Frgaor

fM Horizontal control
&ferr Frdor

Objective Question '

18 18 An angle measured clockwise from the proceeding survey line to the following survey line is called . 10 025

ST Haa(T YT | st wdenr e ae, gféonad wrar i S FEerar gl
"'“ Direct angle — (Correct Alternative)
We&l B0
fu Indirect angle
TS BT

fu Included angle

Fenfa sror
| ‘_M Deflection angle

fadiqur oy

-(.):bj;clivc Question

1919 By using an anallatic lens,’ 10

FetE eI ERS, |

f“ The multiplying constant is made as 0

TV T 0 TG Il §

A2

The additive constant is made as 0 - (Correct Alternative)

Uey fRRTE &1 o TR Srar g

A3 The multiplying constant is made as100

TUFIE FT 100 T T &

A4 The additive constant is made as100

oy RIS &Y 100 ST ST
Objective Question

20 20 A projecting stone which is usually provided to serve as support for joist is called . 10 1025

T Uad TR O smidR R wedR (wigke) F R s & wu d yem Rraroman 2, FEaE gl

'_“ Corbel - (Correct Alternative)
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Objective Question
21 21

Ohjecti.ve Question
22 22

Objective Question
23 23

Objective Question
4 2

www.ErForum.Net

A2 Gable

‘_'\3 Coping

Ad Reveals

U] (61T

- A bond in which the bricks are kept at an inclination to the direction of the wall, is

U@ sty e 21 1 SR 9t fown @ g ww o &, 9w gl A

Al Dusch bond
§9 Yy

{\2 Rat trap bond

e 29 ey

-:‘\3 Raking bond — (Correct Alteraative)
Y sy

j“ English bond

For a good quﬁlity cément, if you throw a handful of cement on a bucket full of water:

U St TUraen aret e & fare, aft o gt @ 1dl aredt w g die s E

'_M The particles should sink immediately and then float slowly

U ) et g TRy oI e R 2R R

@2 The particles should not sink and float only

POl 1 o T AR AR Fraw e AfRe

’_U The particles should sink immediately without any float

HUil ) a1 &Y gia ga s ARy

‘_‘\" The particles should float for some time and then sink — {Correct Alternative)

Steel is obtained by adding small quantities of to iron.

ARA_ S ) e sear T o

f\l Silica
fafdra

.;\Z Carbon — (Correct Alfernative)
EacE]

‘:\3 Copper
GIG|

A

4 Alumina

TR

The deviation of the fibres and discontinuous of wood is caused by

W 1 faaer o) we el &1 fafers FHERUEAIRI A

fu Knots - (Correct Alternative)
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st
A2 pith

Hall
A

3 Grain
Eaul
64 Sapwood

aﬁﬂm(ﬁﬁm

Objective Question

25 25 Snowcem is a paint.

W U TRl

Al "
. Cement — (Correct Alfernative)

e

{\2 Cellulose

Ty

Synthetic enamel

Fim T

fM Plastic emulsion

ReE SHEA

A3

Objective Question -
26 26 The type of plastics used for the manufacture of domestic water supply and drainage is

AI Polystyrene

Urefreradia

:\2 Poly Vinyl Chloride - (Correct Alternative)

UidifaEe iR
A Aerylic
(Eanca

4 High density polyethylene

I U Greitae=

A

Objachve Question )
21 Subterranean termites have their main colonies in

A A e e, dede
j“ Water
e

‘Wood

s

53 Bricks

@

:“ Soil and under ground — (Correct Alternative)

Rt o el & 03

A2

Objective Question
28 28 Rubble masonry arch is comparatively

et e A, gomeTe U QA é‘cﬂ%l

: fA] Strong
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Hegd 1

Weak — (Correct Alternative)

| ®EER
A3 Used in interior works
SHfaftes Sl § Fudn far o g
2‘\4 Provides good appearance

aiﬁﬁaﬁ?mm%

Al

Objective Question
29 29 ' A beam placed across the openings like doors and windows, is called 10 025

T IR RIgRed 7 e e a1ehl ae R R R Y wEE
Al Sunshade
el (F9E)
A2 Chacha
T
':“3 Lintels - (Correct Alternative)
dree (Riew
Loft

M (afee)

A4

Objective Question

30 30 A type of floor finish that is laid in thin layer over concrete topping, is 10 025

T TR B el R i T e A e ) SR o R AT 8 e A2

';“ Terrazzo Rooring — (Correct Alternative)
it v
?\2 Flag stone flooring
R

63 Glass flooring
CacEaba ]

A% Tiled flooring

[HEGEa R
_Objgctive Question '_ B
31 3l Finishing of masonry mortar joint is called

For raen (e, sitg ¥ R TR

_ :\I Pointing — (Correct Alternative)

Fumen (oiEfEm

‘,Az Water proofing

e gt
A3 painting
dfeém
?M Plastering

wRefaT

Objective Question
23 The vertical portion of a step providing a support to the tread is

T W T daey M S SO e B 2% U Fedl 2, gl

A

! Flight

-
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Objective Question

Objective Question

Objective Question

Objective Question

33 33
34 34
35 35
36 36

LGRS
fu Going
g

A3 Riser — (Correct Alternative)

AFAR
‘_“ Step

o

As per IS 456:2000, the maximum free water cement ratio for M20 grade reinforced cement concrete is

@?ﬂ%f

1S 456: 2000 ¥ SFFAR, M20 7S vafer diife Fate F Ry siftean gaa v it s

Al g0
0.40

A2 .45
045

A3 om0

0.50
':N 0.55 ~ (Correct Alternative)

0.55

Workability of concrete is measured by

e @ g grimd o

Al Compression test

HteA e

! \2 Flow test — (Correct Alfernative)

WaTE wdtarr
‘?3 Soundness test
Tl gliem
A

A Flexure test

AT (FIEER) gdiem

The 28 days characteristic compressive strength of M30 grade concrete is

M30 U8 dnte &1 28 oty siftrenafore ddifea wmnd BT

Al
. 30 N'mm? - (Correct Alternative)

30 Nmm?
A2

35 N/mm?®

35 N/mm?
A3

45 N/mm?
45 N/mm?
f\4 60 N/mm?
60 N/mm?>

Ready mixed concrete technology employs retarders for the purpose of:

FaR ffld sl aeie, Iexa F fore Hew &1 Iy et &

i f“ Increasing the water cement ratio

el Hidfe sura # 9fs
www.ErForum.Net
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{\2 Increasing the compressive strength

W e A gt
f’\s Increasing the durability
i A g
':“ Retaining the slump — (Correct Alternative)

U F iy F

Objective Question

U The aspect ratio of the fibre is the ratio of 10 025
Wieisfimgaasmua,_ Jsuad

A

1 Volume to area

I B &T%d
fu Volume to weight
HYTA F1 991

Al :
_‘ Length to diameter — (Correct Alternative)

waTg BT
fM Diameter to length
T & S
Objective Question - o N .
3 38 Polymer impregnated concrete is an excellent material for: 10 025

worEAREEEe, 0 dRuuessrami

Al High rise buildings
';\2 Marine and underwater applications — (Correct Alternative)

| Wyt oY srolelta srqwan

fu Railway sleepers

Y wited

f“ Airport runways

Fars 3 3 famr ugh

Objective Question )
EE The concrete produced by using fly ash and alkali activator solutions along with aggregates is . 10 025

WY & WY s U 3R &R WieRe wie 13U v Iqfed dwle, BRI

M Geopolymer concrete — (Correct Alternative)
YAGHE SHIC

A2 . )

. Fibre reinforced concrete

Y et dwie

: f'\3 Rapid hardening concrete

ool w&d 8 aren Fwte

54 No fines concrete

Uﬁjeétive Question B
0 40 The process of compaction of concrete helps to

3 ¥ e T e

f“ Increase its volume

THP T B dgH
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A2 Increase the permeability ]

URIEGET Bl g
Decrease the strength
gnTe & e

4 g A > :
Increase its density — (Correct Alternative)

FUET I G99

A3

Objective Question )
a A days strength is considered to be the criterion for design and is called characteristic strength. 10 1025

Rt amed 3 feomg @t 0w o § 3R 5 Rt wmrd sgrwar g

My

3
2y
7
A3 3 -
. 28— (Correct Alternative)
28
A se

56
Objective Question

4z @ The material suitable for injection of very fine cracks in concrete, is 1.0 0.25

depie § ggd HeH Rl & 37d- gl ¥ R Iuge g, 2

11 Lime mortar

RSB LIRH

Water based Acrylic resin — (Correct Alternative)
urt amunfya 3% fre we

Polyurethane resin

RIS ERIG]

Cement mortar

A3

A4

e T
'Objective Question o

43 4 A soil has a liquid limit of 41% and plasticity index of 21%. The plastic limit of the soil will be : 10 025

U forgh a6t ot e 419 SR gueran (@nfe i) gaei® 219% §1 gt &t geegar d gt

! 0%
10%

,.RZ 15%
15%

A3 20% — (Correct Alteraative)

20%
A% 504
25%
Objective Question . ) ) ‘
44 144 A bed of sand consists of three horizontal layers of equal thickness. The value for k is 4 x 107 mm/s, 5 x 10 mm/sand 6 10 025

x 10"} mnv/s respectively. The average horizontal permeability is

Y0 & U e & GAF AT &1 < s R €1 K &1 HF HHE 4 x 107 mavs, 5 x 107 mmvs 36 x 107 mm/s
Bohwa dfm o g

f“ 4 %107 mm/s
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Objective Question

Objective Question

Objective Question

Objective Question

45 45
46 46
47 a7
48 48

4 x 107 mm/s
A2 4 ,
. 5x 107 mm/s — (Correct Alternative)
3x 107 mm/s

3
f‘ 6x 107 mmvs

6 x 107 mnvs
A4
15107 mmvs

15 x 103 mmys

Effective stress at any point in a soil mass, is

T P ¥ e & R oft g R i v, B

'_M Total stress / Pore water pressure

oo ufdad / 3 o ge

{\2 Total stress * Pore water pressure

Fe vfiaa * I 9 gE
‘_u Total stress + Pore water pressure
Fdl uftad + ¥y 9 geg

fw Total stress- Pore water pressure — (Correct Alfernative)

The settlement that occurs due to the gradual expulsion of pore water from the voids is

Rt & T o & S Assrm & sro g ae Rved gl

"“ Primary consolidation settlement — (Correct Alternative)

wruftye wtevo Pags

‘_'\2 Secondary consolidation settlement

faditas witewn FiwgA

AJ Immediate settlement

GEaGAEL G

i M Total settlement

_gmﬁuaq

A soil element is subjected to minor and major principle stress of 20 kPa and 50 kPa respectively. The maximum shear

stress is

U el o BHHT: 20 kPa AR 50 kPa F 3170 AR W@ g1 ufded (@) F 31l 21 sifiean s nfyaa
__ ®m
Al 35 kpa
35 kPa
A2 .
.7 15 kPa - (Correct Alternative)
15 kPa
A3 30 kPa
30 kPa
A% 70 kpa

70 kPa

Compaction is caused by ;

g & PFRUIEA g1

Al Short term dynamic load - (Correct Alternative)

www.ErForum.Net
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w1y sraft nfasfe U
AL 5 i teion dyissioic foad
e niasha vR

| ‘,ﬂ Short term static load

Y 3afy Wfgs ur
f“ Long term static load

dmies s uRr
bbjeclive Question

49 |49 The number of blows observed in a SPT for different penetration depths is given in the figure. The observed N value is 1.0 025

=
?ﬁmﬁaaﬂmﬁﬁmwwﬁﬁ(smﬁ%@mmaaﬁmﬁﬁﬁanﬁlEETWNHH
™ —

b

28
A3 - E
.7 40 = (Correct Alternative)
40
A 5o
50
Objective Question

50 50 1.0 0.25

The ultimate bearing capacity of a soil is 270 kN/m?, the depth of foundation is Im and unit weight of soil is 20 kN/m?,
What is the net safe bearing capacity, if the factor of safety is 2.57

T gt 1 SHfm 4RO 47570 270 kN/m? 8, Fla 1 TR 1m & SR P 1 ST o 20 kv B1 afe FR&n o
2.5 8, 0 & TRI& uRor eman @ ge

Al

116 kN/m?
116 kN/m?
i ‘:‘\2 108 kN/m?
108 kN/m?
A3 . ’
. 100 KN/m* — (Corvect Alternative)
100 KN/m*
Ad
. 10 kKN/m?
10 kN/m?
Objective Question

5L sl A foundation, where depth is more than the width is ; 10 025

0 +fla, wigi mevrd, e @ oftw @), [GGi]
f“ Shallow foundation
Jyeit g
Decp foundation — (Correct Alternative)
Tt ffa
A3 Wall foundation
dlan ffq

f“ Column foundation

Wy Ala

A2
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Objective Question
52 52

Objective Question
53 53

Objective Question

54 54
Objective Question
55 55

www.ErForum.Net

Egiﬁﬁ'(msm 140 kN/m? % 3T arufeqy Feiifea wmref arch firdh 3 <renfera g 21 vt or o
I

A 250 kv

280 kN/m?
A2 40 kN/m?
140 kN/m?
Ad o )
» 70 kN/m* — (Correct Alternative)
70 kN/m?
Ad
. 35KkN/m?
35 kN/m?

w%aamm.mmmaﬂwaamamwmmﬁama F o
TG

' 53 Aquifuge

:‘4 Aquifer — (Correct Alternative)

T G AR S RMRY 953 ) o AT PSR a0l TReraon & vl 33 WY, ——X1

-
! :" Sedimentation — (Correct Alternative)

‘,AJ Filtration

Page 14

The total load on a shallow foundation is 600 kN and the safe bearing capacity of the soil is 200 kN/m2. The area of the 10 025
footing required, is

;:Taueﬁﬂawgmmm kwamﬁgaﬁgﬁammm KN/m? B | SRS UG 1 &%
[

Al
12 m?
12 m?

A2
S em?

6 m?

Al 5
. 3 m" - (Correct Alternative)

A pile is driven in a clay having an average unconfined compressive strength of 140 kN/mZ. The cohesion of clay is 19 0.25

A geological formation, which not only stores water, but also yield it in sufficient quantity, is known as an 10 025

Al Aquiclude

ERIGTI|
'_A?' Aquitard
W FeR 'R

EGEIE]

e

The process of retaining water in a basin so that the suspended particles settles down due to gravity, is called 10 025

'_M Screening

oI

HIHTGA
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Objective Question
56 56

Objective Question
57 57

Objective Question

58 58
Objective Question
59 59

www.ErForum.Net

Fareror somedt e @) P B & forg wee % S o ared e R o 2, 9

64 Disinfection
Cleéﬁing of slow sand filters is done by
41 ¥ Fredes ot wwrd R B STt B
fM Back washing
qy-yra-
F=
f\' Scraping and removal of sand — (Correct Alternative)
¥ B gea R Prared
fu Front washing

SY-HrEa
A

4 R y .
Immersing in acid solution

o1t e A g

The valve which is provided in street corners to control the flow in the distribution system is:

f‘“ Reflex valve

Rodte areg
_:-\2. Sluice valve — (Correct Alternative)
wgH areq
‘:\3 Scour valve
Hf3mrei are
;M Air valve
any e

The suitable layout for a water supply distribution system, for an irregularly grown town, is:

it w9 J Refa e & forg o soff frawor woneh & R Fugaa siftmam @eirae)

'f“ Ring system
for gomeft
{-\2 Grid iron system

firs eg womeht

™3 Radial system

e gomrdt
‘_'\4 Dead end system — (Correct Alfernative)

A 3 (3T TE) wormet

A sewage consists of liquid wastes originating from latrines, bathrooms, kitchen etc. are called

?ﬁammﬁmmmmm.wmgmﬁmmam_;
|

f“ Domestic sewage - (Correct Alternative)

Wy aifgane (fde)

‘,\2 Commercial sewage

s afem

'_A"’ Sanitary sewage

www.ErForum.Net

gl

1.0
10
1.0
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W affgeand
Ad Combined sewage
Hgad arfgadd
Objective Question o
60 60 If a sheet of paper moistened with lead acetate is held for 5 minutes in a manhole and then the paper turns black, indicates 1.0

o2 s TeiRe & g BT ) U e s e 3 R A A 7 e & SR R ) e € e 8, 1 98
EAEUGE TGN

‘_M Methane gas
EIDERIH

,Az Carbon dioxide gas

e SRS T
Hydrogen sulphide gas — (Correct Alternative)
FIES I HEETES 1
M Orgen
SiferiiorT

i A3

Objective Question
61 6l For jointing smaller sewer pipes of diameter less than 0.6m, the preferable joint is

0.6 m ¥ 1 A F B o Ul H15irgA & fag, A= sirg ]

Al

Spigot and socket joint — (Correct Alternative)
fRwre ok wide sitg

A2 Coltar joint

IR Wl

f‘\s Bandage joint

LHE
4 Mechanical joint

ifie it

A
Objcclive. Question

62 62 The most common method of wastewater disposal is

U v HI e IR s R’

'f“ Evaporation
Gl
:‘\2 Rapid infiltration
-l sfaER
A3

Application in irrigation
R & srgwr
i N Dilution in surface water - (Correct Alternative)
Fag e § agE
Objective Question

63 63 The natural process, under which of the flowing rivers water gets cleaned, is known as:

T widha, forads siavia aga arelt Afedl &1 ar e & o €, & w0 A S Sl 81

Al Oxidation
iR

Self purification — (Correet Alternative)

|

A2

Page 16
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Objective Question
64 64

Objective Question
65 65

Objective Question
66 66

Objective Question
67 67

www.ErForum.Net

i f“ Run off - (Correct Alternative)

A3

I ‘_M Transpiration

U fas R @t RiEr dee, o Sel-A-wE aaee ok /i veR @ e s da g, 9 21

A2 Elow Irigation

Page 17

A3 Photosynthesis §

PEONE RG]

‘,M Sedimentation
HaHIG

A portion of precipitation that is not evaporated contributes to: 1.0 025

YU H1 TS T ) T T g, o e ¥ g1

HUdTg
fu Evaporation
CILE

_7 Settlement

fAweA

CILRIEE]

A special type of irrigation scheme somewhere in between inundation type and permanent type of irrigation, is 10 025

A

! Well Irrigation

Fu R

varg Rirg

'_‘3 Bandhara Irrigation - (Correct Alternative)

aur R

f‘“ Terrace Irrigation

wHigtenr Ri=g

The margin provided between the top of the dam and high flood level is ‘ 10 025
Ty & I oIk I 91G R F & vem fu mar wki H6IH|

f“ Scour

HfEmH

fu Apron

e (TH)
A3 Spill way
ort A A
Free board — (Correct Alfernative)

HETA (W1 91E)

A4

The purpose of river training is 1.0 025

4t A S 3R Ty gl

Al T4 desilt the channel
I &1 fammg wA & fa

‘To stahilise the channel - (Correct Alternative)

e 91 R 7 ¥ e

A2
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Objective Question
68 68

Objective Question
69 69

Objective Question
70 70

Objective Question
71 71

www.ErForum.Net

A3

LAl

i Al

fu To increase the flow speed

yag T Jgr & fore
f“ To reduce the flow speed

YT T B FH B & o

The reclamation process of removing the water from the wet areas is called . 10

et &5t & urft P 3t grfeu ufsar at EGEIGI|

A

: Drainage - (Correct Alternative)
SrefreT

fqz Back wash
LERICE]
Permeability
Rl
A4 Proughing

T

A simply supported beam of 4m length is subjected to a udl of 2 kNm. The maximum shear force at the support is 1.0

4mmmwwﬁm,zmm$m$mﬂﬁ|%$wa@mmm il

2kN

2kN
Al

|, 4 kN —(Correct Alternative)

4kN
A3 g kN
8 kN
4 16kN

16 kN

The section modulus of a rectangular section of breadth 200 mm and depth 300 mm, is < 1.0

|87 200 mm 3R TERTE 300 men TR HATHR €S H1 S A, 21

1.5 x 10 mm®

1.5 x 10% mm?

i fu 4.5x 10 mm*

4.5 x 108 mm*
‘:"3 9 x 108 mm*
9 x 108 mm*

Ad
; 3x 105 mm? - (Correct Alternative)

3x 10° mm?
‘ The longitudinal shearing stresses balance the variation of along the beam. 10
e ST uidEd, U W 1 o &1 Ui FRa g1

iu Bending stresses — (Correct Alternative)
o ufaee

{AE Bending strains

o fapfa

Page 18
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| A3 Tensile stresses

T wfaea
f“ Compressive stresses
Gdifga ufaaa
Objectiﬁ Question

. mn The deflection at the free end of a cantilever of length | carrying a point load W at the free end is given by

grrfemm #

Al wiser
WVI/3EI
A2
. WPZEI - (Correct Alternative)

WPIE]
A3

WI2El

WI2El
A

* WIZ/3E]
WI23El
Objective Question

37 Columns whose slenderness ratio less than 32 are called

o il 1 e s 32 AP AT R, IR FER

f“ Long columns
GEESH

f‘u Medium size columns

T {ER & 'Y

‘,A} Slender columns

EGEESH]
il ':\4 Short columns — (Correct Alternative)

Y ®Y
{Objective Question ) . ]
IE The loads which are temporarily placed on the structure is

S YR (@18) St &9 | TE W@ E e, iﬁﬁl%l

:“ Live load - (Correct Alternative)

T9 UR (ATFA TIS)
A2 Dead load
3 HR
Wind load
A R
A4 Earthquake load

YHT HR

A3

Objective Question 7
A The yield stress divided by the factor of safety is called .
‘ AN TUF T AR g wied & HEI I 8

':M Ultimate stress
o ufdeEa
A2 Limit stress
Hiftra v
www.ErForum.Net www.ErForum.Net
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Objective Question
76 76

Objective Question
77 77

Objective Question
78 78

Objective Question
79 79

www.ErForum.Net

A3 Elastic stress

GGG IGEG

'_'N Permissible stress — (Correct Alternative)

If the depth of neutral axis is less than the critical neutral axis, the section is

Ife TeRY 348 B TGS Hifcd dow 4 T FH L, A1 dS Bl .

‘fM Balanced

52 Doubly reinforced

AT vafera

:\3 Under reinforced section — (Correct Alternative)

FH-yafea g8

'fM Over reinforced

fel yafera

If ly/lx >2, the slab is designed as

2 1y/xo2, 1 Rt &) 2 U i g e o 31

A

! Flat slab
T feet

o One-way slab — (Correct Alternative)

uw iR Ryeeh

{U Two-way slab

el faecht

Al

| ','\4 Continuous slab

ard et

For coh.a-n.ahs. the spacing of longitudinal bars measured along the periphery shall not exceed:

Wl & forg, oRtfa & s andt oR areft srRef st oiR @ aRie i S aiu

f“ 100 mm

100 mm

':u 200 mm
200 mm

;‘3 300 mm — (Correct Alternative)
300 mm

A 450 mm

450 mm

is an important property to avoid differential settlement of soil.

gt & Y e @ wrea & e o g qui 2

fM Drainage

EGIECac:]

A2 permeability

YRITHIT
A3 Compressibility
www.ErForum.Net
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Hdtsaan
A4 e ) )
. Incompressibility — (Correct Alternative)
Objecuw Ques(ion” b

80 80 | The longitudinal joint in concrete pavements, as recommended by IRC, is of: - 10 025

IR (IRC) TR S, Bifobe Peury & sl g HIFITRI

| f'\' Tongue and groove type
SIS A UHR
:\2 Butt type — (Correct Alternative)
T UPR
f“ Weakened plane type
gaiford WHad UER
f‘“ Hinged type
i TGN THR
Objective Question o ' =
81 81 The colour of light used for visibility during fog is . 10 025
HIEY & AW TG & oY Wy WebT™I BT T 21

Al Red
o

A2 ..
Yellow — (Correct Alternative)

e

_A3 Green

&
4 White

b

A

Objective Question
82 82 An example for ballast material is . 1.0 025

it @ere) i sIeE e #

1 f“ Concrete

Fifwe

A2 cieet

Erain|

'_'U Brick bats — (Correct Alternative)

e

fM Sized stone of 9 inch

9 §9 & HHR T TR
Objective Question

8 & This loading is to be normally adopted for timber bridges, is ; 1.0 025
R (GFET) S O w0 & et & Ya & o o ST g, gl

Al 1RC Class 70 R loading
IRC %uft 70 R HRWT

A2 |RC Class AA loading

IRC JUft AA HIRUT
A3 IRC Class A loading

www.ErForum.Net www.ErForum.Net www.ErForum.Net
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Objective Question
84 84

Objective Question
85 85

.Oliject'i\'fe Question
86 86

Objective Question
87 87

www.ErForum.Net

IRC #0ft A HRUI
‘:\4 IRC Class B loading — (Correct Alternative)

IRC #vft B YO

For constructing the tunnel, the preferred tool to excavate very soft ground, is

o1 % e & fag, aga e 9HF @) gerd & e sftmfa suso,

Al

| Water jets - (Correct Alternative)

dieT A
fu Machine Auger

Hei ok

Al Conventional cutters

URUR® Fex

64 Hand auger

U5 3R

The quantity of 230 mm thickness.brjckwurk wall is estimated in

230mm HIeTS arel 3¢ &1 Siar &1 ufam, T} [T ST 81

A

. Lump sum

ThHd
f‘\z Linear metres

@ ez

'_“ Square metres

Euksiced
p. ¢ . g 3
. Cubic metres — (Correct Alternative)

w4 ftex

The earth work excavation is calculated in :

gt S IogH Bl IREHeH H fra smar 1

fm Linear metre

W@ ez

:‘\2 Square metre

arf ey

.j\.} Cubic metre — (Correct Alternative)

e wftew
‘f“ Lump sum

ThHId

A quantitative process of determining the fair value of an asset is called

foret ittt &1 3Sfua e Fuifa &9 31 e T ufra

'_M A valuation — (Correct Alternative)

TS Tegie
'52 A design

e fEwirE

A3 A payment

www.ErForum.Net
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& A

'_’“ An estimate

U SgHr

Objective Question

88 88 Blow holes are formed on the surfaces of concrete due to the:

P PRU Bilsre H! Gl W I0-Og F1d 1

?“ Upward movement of water
ol Bt e 7if
';\2 Entrapped air or water — (Correct Alternative)
o arg ar e
10\3 Corrosion of reinforcement
GEIHI & HERUI
" Hydration of cement

Hiie &1 Jedor

Al

Objective Question
8% 8 Carbonation of concrete occurs due to the penetration of:

F SITI B PR Biibe B HENG (STEAL) B 21

Al giticates
fuferse

AAZ Water

i

f\} Carbon monoxide

FIET AAEES

;-\-t Carbon dioxide - (Correct Alternative)

W SATFATES
Objective Question
5 90 If the faces of walls are not suitably protected from the exposure of heavy rains, they become the sources of:

o arl & s &1 Hif IR S Gub A s e ad wa g, @ FIETET IR

| fql Collapse

Fuma

’,u Cracks

@RI
,:'\3 Strength reduction
amaf # Fft

:\4 Dampness — (Correct Alternative)

Objective Question -
91 9l What is the size of hole when 12 mm diameter bolts are used to connect two plates?

O &1 Qiel B S F I 12 mm S0 & diee &1 3900 far ST €, o g &1 SR ar g 82

fM 12 mm
12 mm
A2 - g
o 13 mm - (Correct Alternative)

I3 mm

fu 14 mm

www.ErForum.Net www.ErForum.Net
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14 mm

A% 15 mm
15 mm

Objective Question
92 9

Al g0 kN

820 kN

A2 601 kN

601 kN
A3 367 kN
367 kN

:‘4 500 kN — (Correct Alternative)
S00 kN

Objective Question
93 93

'.M Welded plate girder

%S fur we

4.&\2 Gantry girder

L RIS

i fu 1 section
183

A

" Rectangular hollow sections — (Correct Alternative)
ATAHR WrEe Ee
Objective Question

j“ 1.0 L~ (Correct Alternative)

1.0 L

A2 1L

2L
Al oL
08L

A a1,

20L

.Objecti;v'eQﬁeslion e o] o
95 |95 One of the principles of planning is

o 3 Rigidl 8 uw B

A

i The plan should be flexible — (Correct Alternative)

qrerT dgFeg gt TRy

fu The plan should not be realistic

Ao qurfardt 78t gt anfge

The plan should be fixed

drern fAfda gt afey

(A3

www.ErForum.Net www.ErForum.Net

' The fénsilé yield strength of a soth 250 (Fe410) grade steel plate of size 220 mm x 10 mm is.

220 mm x 10 mm 3HIHR F TF S E 250 (Fed 10) IS Wl @I BT o garyg T il

Which among the following types of section, is used for lightly loaded beams?
fraferaa # 4 fra v & @3 1 3udn, geb ¢ @ wifta & ¥ R R o

94 94 A column of length 'L' is pjnneﬂ. at 'b'mh the ends. The effective length of the column is 2
T 'L AT e i Y G RRY R e foa wtren @1 < @) syt e

Page 24
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A4 The plan should be shallow ]

arer1 Sy g ey
Objective Question B
9% 9 In project management, a critical path is the sequence of dependent tasks that form the 1.0 0.25

ufRder wev #, O wifte gy sifia Sl @1 simm & s T3 &l g

fM Equal duration of two or more paths

& a1 34w ul 1w saf

AZ Shortest duration

ey &1 @y

:\3 Longest duration — (Correct Alternative)

wad ofdt srafy
- Average of shortest and longest duration

[ B 3R T ol 3l F ol

Al

Objective Question

97 97 Now a days in the remote areas where telecommunication company's mobile signals are not available, the communications 1.0 025

within huge site area is provided by

mwma%ﬁﬁwmmﬁmmm%ﬁﬁwamaa$mmm,
BRI UM faa o g

Al personally
afdTd Fa @

‘:AZ Using transport facility
ftaeT g 1 Iud 3R

Passing through person to person

U fd & gEl ofad de uRa s &
:\4 Two way radio sets — (Correct Alternative)

fiftfe fa g

| A3

_O_bjecli.ve Question

98 98 - Blue baby disease is due to higher concentrations of in drinking water 10 025

A M EF T o= aa s eruda

M Nitrate - (Correet Alternative)

5T
A2 Cadmium

Fsfiy

:A.'i Mercury

ORI (RS
fM Chlorine
FARMA

Objective Question

% 9 Which of the following elements, When inhaled, diffuses directly into blood stream and forms carboxyhemoglobin? 10 025

ﬁaﬁt%aﬁf{immaa,mﬁaﬁmmma,%ﬁ&mmﬂﬂmm%mmﬁmﬂ%ﬂ@mm?ﬂ

;“ Carbon Monoxide — (Correct Alternative)
&1d HHTaES

;»\2 Carbondioxide
HTE SHIFES

fu Hydrocarbon

www.ErForum.Net www.ErForum.Net WWW.ErForumJJlet
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Objective Question
100 100

TEgIBEA

4 Cadmium

i

A

PCC stand for Pollution Control

PCC(M)H"I‘IUTF‘IWHW—‘

':M Corporation
BRI
2 Council
Larinn)
?\3 Centre

Hex

A

f“ Committee - (Correct Alternative)

FAE

H|
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